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Solve each system of equations below by graphing. Identify the solution.
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5. 2y=8x+18
24+4y=x

Zy = X3
y=Hx+q

2441y =X
Hy=x-24
Y=g x-b
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6. -y=-x-6
3x+18=3y
“Y=-X-b
Y =X+b

3X+18=3y
X +bzy
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Solve by
- Supbstitution

SOLVE one equation forx ory. {Isolate a variable)

SUBSTITUTE the resulting equation from step 1 into the other equation

for that variable.

SOLVE for the remaining variable.

® O

SUBSTITUTE your answer from step 3 into either original equation to

find the other variable.

Directions: Solve each system of equations below by substituion. Identify the solution.

7. y=-7x-1 8. y=-5x+30
y=x-9 7x+3y=42
X-q= =% -1 y= 179 TIX+30CB%+30) =42
-9 = -gx -| (V= 8] |TX-15x +q0=42
-g: _gx - _gx =__ng
— X=0
\l:'S(l;) +30
i) B R wolf
9. 6x-5y=-28 10. x-7y=53 > x:—-'\/ +53
Tx+y=22 = v =~Ix+22 ~4x-5y=19
LY -5(-1x+22) =-2¢ ~1(1y+53) -8y =19

lox +36% -110 = -28

-28y - 212 5y =19

4| Xx=92 -.53_ =23|
X2 (==
1(2) 1y =22 *-1U-N=53
y=¢ (2:8) % =4 4,-7)
11. 2y=6x+10 > N = X +S 12, S5x+7y=-17
3x-y=5 4x-3y=-5 » 4y 45 :31
3% -(3x15)=5 dx+E=y
-5¢5 Bx +1(F%+ §)=-11  UlD3y=s
-2 "3Y=-5
5 5x+%8x+%5.=-n ~3y=
=-f
Px+&--n I
4Y3x+ 35= -S| (-2, 1)
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